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Section - A

phenomenon where as boilingisa .........

Ql Evaporationisa ..........
b) Surface, bulk c) Fast, slow d) none of these

a) Bulk, surface

Q2. On Kelvin scale 59°C is equal to:
a) 330K  b)332K 335K d)331K

Q3 Which of the following statement is always
physical change?

a) Itchange colour

b) A new substance is formed

c¢) Itboils

d) Its compositionre
A solution can be called a dilute, conce
presentina ..........

Solvent, solution ¢) Solute,
n CO; obtained from different source (1)

(1)

true when a substance undergoes (1)

mains the same
ntrated depending upon the amount of (1)

o

.........

a) Solute, solvent b)
Q5.  The same proportion of carbon and oxygen 1
proves the law of
a) Reciprocal proportion b
¢) multiple proportion

The diagram given belc

solution d) none of these

) Conservation of mass
d) Constant proportion

(1)

spresent an atom of

um d) Phosphorus
mical formula of its oxide is



Qs

Q\)

Q1o

Qll.

Ql2.

Ql3.

Ql14.

Scientist who coined the term ‘cell

a) Robert Hooke
b) Schleiden and Schwann
¢) Robert Brown
d) 1 \‘\‘U\\’\‘nh&\‘k

. ()
okaryotes 18 also known as

The undefined nuclear region of pr

b) Nucleolus <) Nucleic acid
observation. The corr

a) Nucleus d) Nucleoid
oct feature of cheek (1)

Rohan examined the cheek cell and made

epitheliumis::

a) Absence of cell wall, nucleus and plastid
b) Absence of nucleus, plastids
&) Absence of cell wall, plastids an

d) Absence of intercellular spaces an

d intercellular spaces
d nucleus
Blubber in whales is, infact, an (1)

pose tissue b) aerolar tissue c) dense regular connective tissue d) cartilage

a) adi

)

Which of the following are exotic breeds?
i) Brown ii) Jersey iii) Brown swiss iv) Jersey swiss
a) (i) and (iii)  b) (i) and (i)  ¢) (i) and (iv) d) (i) and (iv)
@

The area under velocity - time graph gives
a) Acceleration b)Speed <) Retardation d) Displacement

Match Column I with Column II and choose appropriate option fro

given below:

m the codes (1)

Column I Column II
A) Acceleration 1.Kg
B) Momentum 2.N
C) Force 3. Kg ms'
D) Mass 4. m/s?

(a A-3,B-4,C-1,D-2 b)A-4,B-1,C-2,D-3
(0A-4B-3,C-2D-1 dA-1,B-2,C-3,D-4

A body attached to spring balance is put in water. The reading of spring balance

(a) decreases (b) increases (c) remains unchanged (d) may increasg or decrease

@)

Two bodies of equal weight are kept at hei 1
Wy @i s pt at heights of h and 1.5h, respectively. The ratio (1)
a)32 b23 ¢ Lal d) 4:3
For the following questions, two statements are given - one labelled Assertion (A) and
an

the other labelled Reason (R). Select the correct answer to these questions from th
m the

codes (a), (b), (c) and (d) as given below:
[a,) gotll: A and R are true and R is the correct explanation of the asserti
) Both A and R are true but Reasor R is not a correct explanation of .:sx;em
or.

¢) Ais true but R is false.
d) A is false but R is true.
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¢ i ot visible 1 solution '
prom JOn -atter light due to

‘ fluid behaviouf
am C

W shows v v aaing
. of hip s and pre
. “W‘m‘ - a l"l),\‘“ {
i rerval between the original sound and (1)

Ve

|v' ""

the refled ted
: n for about 0.1 sec. !
o

he sensation ¢ persists in our bral

o sund
of particles.

ljum helps in movement
ment
b (=

Reason T
: € iliated r;nllw

Reason | Cilia helps 0 move

main features of Bohr Model of atom’

Section - B
(2)
2

what are the
sMlowing gving one example of
b) Heterogeneous mixture

Define the f« eac h
a) Emuision

Give one reason why?
a) Muscles of heart are involuntary?
b) It is difficult to pull out the husk of coconut?

Oifferentiate between animal cell and plant cell. (Give two points)

: OR ’

Name the cell organelles for the following’ ;' r
a) Packagmgmddispcwmwddnceu " m’

" b) Suicidal bags of the cell " |
man throws a ball of mass erticall

point of its reach?
m § ﬂf;f :~»

: Find ) tae spessi Sty (;) the distance
m"c i T

.

GVQM, "
a2) Sponge though co

<) Write (i) and (ii) on the arrows sh e
s of -




ge?

What type of tissue is cartila

(‘):Q d) ) : )
b) What is rmatrix of cartilage made up of E
/ » functi n. 3
¢) Write one function of tendo o - Explam and G

Q30 a) Why do raisins and apricots swell up when [ _ G

name the phenomenon involved. . od sugar solution,
b) When swollen raisins and apricots are put in concent;::n o ng;n :
what will happen to them? Explain and also name the p o =t
3l. a) Define 1W of power . ; ! |
s m moving with a velocity of 5m/s is -

b) The kinetic energy of an object of mass, Lk,
25]. What will be its kinetic energy when its velocity is tripled?

a) Derive an expression for acceleration due to gravity in terms of mass of earth (3)
(M) and universal gravitational constant.

b) At what place on the Earth’s surface is the weight of a body maximum?
(poles/equator)

Q33. a) Name the devices based on Archimedes’ Principle. 3)

b) When an object is immersed in a fluid, name the two forces acting on it.

©) Draw diagrams to represent soft sound and loud sound.

Q32.

X Y
Protons 6 6

Ngutrons 6- 8

b) gl‘ll)ee;i}:ehldszslfaiug;wlzr e:i;?ed & '
) Mo p
Snswer the f.o1lov\ring'l.,mto“s e elm‘,’, i
rite t} nameandsymboIof

3) On the basis of the follq e

*




has 11 protons and 11 clcc.trons. Wh;at is the distribution of
he valence shell of this element!
5)
fine ¢ J -ulture?
yefine composite fish cu . .
;‘: :Vh.lattns the problem associated with it and how it can be solved?

¢) Whatare Jeucoplasts? Give their f;r;zchon.

a) Lable the parts A, B, C A

(*I(‘l‘l'll'l“

An
b) and name !

electrons

b) Write the function of pai't & 1 -C
¢) Differentiate between Xylem and Phloem. (Give 3 points)

(2) Why the stage of an auditorium has curved background, ¢
false ceiling? R
(b) The wavelength of waves produced on the surface

wave velocity is 24m/s. Calculate (i) the number of w:

(ii) the time required to produce one wave. ./

(c) Name the principle on whichthesteﬂ\d%ope 0
OR M

o) If any explosion takes place at th
waves in water will take place?

33




Q39.

Different erops require difItre d’m;‘dncu(::m;\;f plaﬁls and flowelitls &85 —F s

growth and completion of their life ©

sunlight. M)
1. What arc Rabi crops? ) &

2. Which is not a Kharif crop? =
d) Wheal

a) Rice b) Maize  €) Soyabean

3. What is Rabi season period?
a) November to March b)ﬂovembﬁtkoil
¢) November to January d) November to February o

4 Whichoneisnotuoumeolarbohydnee?

a) Rice b)Millets ¢)Sorghum  d) Gram
Rudlhemndnneﬂbgblﬂh‘quﬂbﬂ: ‘
A ball is thrown vertically upwll'dl-Whel‘litMﬁU gravitationa
mpﬁvewrkmlhdxrmhgbm&w.'khr
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General Instructions: in § sectlons &
i) This question paper consists of 19 questions in 5 secllony. =
i All questions are compulsory. However, an Internal cholee Iy provided n some l/ll(ll/ﬂlll: A student é@)
is expected to attempt only one of these questlons, v ! met =
v j v ’ g J ‘", ~
ii) Section A consists of 20 objective [ype que stiony carrylng 1 mark eac I~
iv) Section B consists of 6 Very Short questions carrylng 02 marky each, Answers (o these qlllllbﬂl @
should be in the range of 30 to 50 words.
v) Section C conslsts of 7 Short Answer type questiony carrylng 03 marks each, Answers to these
questions should be in the range of 50 1o 80 words, &

vi) Section D consists of 3 Long Answer (ype questions carrylng 05 marky each, Answer to these i
questions should be in the range of 80 to 120 words,
vil)  Section E consists of 3 source-based/case-based unlty of assessment of 04 marky each with Imé_?j

Section ~ A

Q1 Which condition out of the following will increase the evaporation of water?

N

a) Increase in temperature of water
b) Decrease in temperature of water
¢) Less exposed surface area of water
d) Adding common slat to water.

Q2. On celcius scale 400K is equal to
a) 2270C  b)270C ¢)1270C  d)1000C
Q3. Which of the following is a chemical change?
a) Melting of butter in a pan

b) Water boiling to form steam in a container

¢) Dissolving common salt in water .y
d) Burning of paper ’

Q4. Which of the following will show “Tyndal Eﬂé’f
i) Salt solution i) Copper sulphate solution ; i

Qikiv  b)iii  c)iii,iv vonly

The atom is indivisible was propos ed




4’0

4 Cell theory was iven by
a) Schieiden and Schwann

b)) Virchow and Hooke
¢) Hooke and Schwann

d) Haeckel and Schleiden

h chromosomes are termed
b) centromeres <) chromatids d) none of these
| and made observation. Th

r
\/ Qe The two arms of ea
a) chromatin fibres

Rohan examined the onion pee

QIo
pace is absent

a) Intercellular s
b) Cell wall is present
’ ¢) Nucleus is present
/ d) Cell wall is absent
Q11.  The pinnae of ears have a)
a) bone b)cartilage c) elastic fibres d) collagen fibres

% omm‘“‘“""“‘"maw
ii) Bos domestica iii) Bos bubalis iv) Bos vulgaris [4))

a) ()and (iii) b)()and (i)  c)(ii) and (iii) d) (iii) an d(iv)

QI3. Th:;loped velocity - time graph gi
ce b) The displacement
14. g :
Q MltchCalumnIv\ru:hColmmnHand‘:"rhe d)m

Column 1
B) Acceleration
C) Mass
D) Force
(‘)A-s'B-LC‘LD 2
(©A-4,B-1,C- 5 .
weight of water displaced “h
@2N  (b)8N ¢ *
016. Aw’d .
hdau&:lku
2)0102m  b) 1 _
For the




Ie4

.y (1)
: . 5 ,-.-H\l :
1 — e N Jd« are similar to those of its components
o & ‘ : of the cell 1)
s - ' te shape and support
¢ \ ction, de
"“ < { \ Wavelength/ Time period (1)
[y A ss tion MU ( \ ¢ .
t y Vay wth is the distance between two consecutive compressions or two
Assertion : The inner lining of intestine has tall (‘pith(‘li.ll cells. (1)
Reason : Columnar epithelium facilitates absorption and secretion
Section - B
e main features of Rutherford’s model of an atom. (2)
following giving one example of each 2)
yYeneous mixture b) Pure substance
e reason why? 2)
Muscles contain contractile proteins
Branches of a tree move and bend freely in high wind velocity.
‘erentiate between prokaryotic cell and Eukaryotic cell. (Give two points) 2)
OR
Name the cell organelles for the following:
Storage sacs of the cell b) Transporting channels of the cell.
% man throws a ball of mass 0.4kg vertically upward with a velocity of 10 m/s. 2)
What will be its initial momentum? What would be its momentum at the highest
point of its reach?
OR
Why can a small mass such as a bullet kill a person when fired from a gun?
Q2¢ A train is travelling at a speed of 90 km/hr. Brakes are applied so as to produce a Q)
uniform acceleration of -0.5 m/s2. Find how far the train will go before it is brought
to rest.
Section - C
Q27. Give reasons. : 3)
a) Solid carbon dioxide is called dry ice.
b) Our palm feel cool when we put some acetone on it
¢) Name B and C in following change of state
Liquid -——6——\ as
e
Q28 a) Calculate Molecular mass of following

CHs COOH given Atomic massof C=12u H=1 =
b) Write names of the com AR

ound .
()NesS  (ijyCusy - Presented by following formulae

iy e . Y mass to form carbon
of oxygen i mpletely with 9gm " of

A-3
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X
Protons 5
Electrons 5
Neutrons 8

What is the rr
1) What is the a
Define ’4/:“';"“,
An element A

¢ .1
.";,./;'lllfr;{

What is the distributio;
if) What is its valency?
What type of ion is

) !d:-rmfy the element.
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vhich buoyant force de Pe nd
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Section - D

1ass number of Y ?
tomic number of X 7
Ive example, What is comm
has protons 13, electrons 13

formed by A

OR

a) From the given table answer the following:'
Element Mass No, Atomic No,
A [ 2
B 9 R
.. 11 5
D 19 9
E_ -2 _ alass l

On in isotopes?
and 14 neutrons. Answer the

3)

3)

3)

(5)

)

)

—~
)

-
J -




prcsent in B?

i i

will form a ncgatxvely charged ion?
t has 12 neutrons
17 electrons, What

1‘)4 An element has 17 protons an
the valence shell of this e

clectrons and name

07/05/2025 07:04

What is composite fish culture?

a)
b) Write its tWO advantages.
¢) Whatare chromoplasts? Give their function.
OR

a) Labie the parts A, B,C W

Q36. (a) Alongitudnal wave ofwav
Calculate u\g&wd 3
(b) In the graphs given
phs (a) or Mhlﬂ'd]b

REDMI 13C 56




Section - E

Read the passage and answer the following questions : :
Molecules are the essential build ng blocks of life, Without water molecules, life on Earth

would not exist. All living organisms need protein molecules for structure and function.
Iherefore, an understanding of how atoms combine to form molwula is key to
understanding the origins of life. An atom or a molecule can lose or gain W”‘ﬂ'

an ion. When an atom/molecule gains negatively charged electron(s), a negative ion is
formed. When an atom/molecule loses negatively charged electron(s), a positive jon is
formed. A molecule is a neutral particle, composed of a set number of atoms bonded
together. The particle of the substance is the molecule, rather than the atoms that make up
the molecule. By contrast, ionic compounds are made up of an indeterminate number of
ions, in a fixed ratio. The particle of the ionic substance remains the ion. ol

a) Name the non metal which is tetra atomic
b) How many atoms are there in HNO;3 ?
¢) What are polyatomic ions? Give example,

R_ead the passage and answer the following questions :
Different crops require different climatic conditions,
growth and completion of their life cycle. Growth of plants and flo
R What are Kharif crops?
v A Which is not a rabi crop?
a) Wheat b)Gram  ¢)Pea  d)Rice
3. What is Kharif season period? ¢ AR
a) JunetoJuly  b)June to October c)}me_
4. Which one is not a source of proteins?
- @) Gram b)Pea c)Bean d)V
Q39. Rad!hcmudamerthcfoﬂowhg ~' ',;
When an object is allowed to fall from highe
duemgmviiaﬁonalpuﬂ,i.e.,itgaha :
m@Mabuwhuﬂwdﬂbu:;”n
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Section = B

Read the o ans the followi uestions @ o y
on passage and answer the following q .:

Molecules are the essential build:ng blocks of life. Wilh|0tlt lw“grm:mtm 4
would not exist. All living organisms need in molecules une
[herefore, an . rhot‘ how alomm‘:omblm to form molecules -Il';: ‘
mmmMoth&‘meammmﬂmdw «
an won. When an atomvmolecule gains negatively charged electron(s), a negati
tormed. When an atom/molecule loses negatively charged electron(s), a positive |
formed. A molecule is a neutral particle, composed of a set number ¢ [ atoms bor
wweether. The particle of the substance is the molecule, rather than the at ”
the molecule. By contrast, ionic compounds are made up of an ind
wes, in a fixed ratio. The particle of the ionic substance remains the ic

N DR

a) Name the non metal which is tetra atomic
b) How many atoms are there-in HNO; ? N
¢) What are polyatomic ions? Give example.




